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1. '{A(t), t ≥ 0}
×�PPoissonÄ�, ¢ó
λ��Sn�ÏnÍÕ¾`Ñ, n
×

ÑJó�

(i) �JE(S2
n|A(t) = n) = b(E(Sn|A(t) = n))2, t ≥ 0, Í�b�tPn�(155)

(ii) O�b�(105)

2. '{A(t), t ≥ 0}
×PoissonÄ�, E(A(t)) = a(t), t ≥ 0��O

(i) Cov(A(s), A(s + t)), s, t > 0�(105)

(ii) Cov(A(s),
∑n

i=1 A(s + ti)), n ≥ 1, s > 0, t1, · · · , tn > 0�(155)

3. '{A1(t), t ≥ 0}, {A2(t), t ≥ 0}/b}ñ¦���B(t) = A1(t) + A2(t), t ≥
0��J{B(t), t ≥ 0}ùb}ñ¦��

4. '{A(t), t ≥ 0}
×PoissonÄ�, E(A(t)) = a(t), t ≥ 0��0 ≤ S1 < S2 <

· · · < Sn < · · ·
{A(t), t ≥ 0}�Õ¾`Ñ�ê'T1, T2, · · ·
i.i.d.�ÑÝ�^�

ó, |F
Í�!5µ, v{Ti, i ≥ 1}�{Si, i ≥ 1}}ñ�ÞF{TiSi, i ≥ 1}¥
4¡, ÿÕ×FÄ�{D(t), t ≥ 0}�'

∫∞
0 F (t/τ)da(τ)D3, ∀t > 0��J{D(t),

t ≥ 0}
×PoissonÄ�, ¬��E(D(t)), t ≥ 0�


